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Division 507

How can you tell if there's an elephant in your sandwich?
You can't pick it up.

Divide these numbers.

1. 6+6¢= 26. g3 +7 = °l. 35 =7 = % 7 +7=
2 49+7-= 21 66 + 6 = 2 56+ 7= T +7 =
% 60+6-= 8. 42 +7 = B 12+6= B 24+6=
4 28+7= 2. 48+ 6 = 54. 18+ 6 = 9 84+7 =
> 70+7= 0. 21+7= 42 +6 = 8. 14 +7=
6 54 +6= 3. 72 +6= 6. 36+ 6 = 8. 7+7=
. 30+6= 32. Bg=+7 = 5. 6+ 6 = 82. 7 +7 =
& 21=7= 8. 49 +7 = 58. 77 +7= 8. 84+7=
> 42+6= 4. 28+7= 59. 36+ 6 = 84. 63+ 7 =
0 56 +7= 5. 66+ 6= 6. 70+ 7= 85. 35+ 7=
H6+6= 6. 7+7= 6L 6+ 6= 8. 14+ 7=
21+ 7= 7. 72+ 6= 62 12+ 6 = 87. 54+ 6 =
B 6+6= 8 60+ 6= 6. 30+ 6= 8. 6+ 6=
o147 = . 36+ 6= 6. 6+ 6= 8. 42+7=
o 24-6= 0. 63+7 = 65. 48 + 6 = 0. 14+7=
© 6+6= “7+7= 6. 6+ 6= oL 28+7=
63+ = 2. 42+6= 67. 49 + 7 = 2. 21+7=
1 36+6= B8 7+7= 6. 18+ 6 = 9% 35+7=
9 72+6= M. 21+7= 6. 70+7= 9. 24 +6=
® 6+6= 4. 30+ 6= 0 66+ 6 = %. 36+ 6=
2 56 +7= % 6+6= 1447 = %. 63+ 7=
% 6+6= 47 42+ 6 = 2. 60+ 6 = 7. 7+7=
2 6+6= 8 6+6= 42+ 7 = % 28+7=
2 14+7= 9. 48+ 6= 4 70+7= 9. 77+7=
25 6+6= 50. 18 ~ 6 = 75. 30+ 6 = 100. 84 +~ 7 =
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How can you tell if there's an elephant in your sandwich?
You can't pick it up.

Divide these numbers.

L. 6+6=1 6. 63 +7=09 5. 35+7=5 6 7+7=1
2. 49+7=17 27. 66+6=11 52 56+7=38 7 77+7=11
3. B60+6=10 8. 42 +7=6 8. 12+6=2 8 24 +-6=4
4. 28+7=4 29 48 +6 = 8 5. 18+6=3 - 84+7=12
5 70+7=10 30 21+7=3 5. 42 +6=7 80 14 +7=2
6. 54+6=9 3. 72+6=12 56 36+6=6 8. 7+7=1
. 30+6=5 2 56:7=8 5 6:6=1 8. 7+7=1
8 21+7=3 3.49+7=7 8. 77+7=11 8 84+7=12
> 42+6=7 ¥ 28+7=4 59 36+6=6 8. 63+7=9
0 56+7=8 3 ep+6=11 0 70+7=10 8 35:7=5
1. 6+-6=1 3. 7+-7=1 6. g-6=1 86. 14+7=2
2. 21+7=3 3. 72+6=12 62 12+6= 2 % 54+6=9
B 6+6=1 8 60+6=10 6 30+6=5 8. 6+6=1
% 14+7=2 3% 36+6=6 6. g+6=1 89. 42+7=06
15 24+6=4 4 3:7=9 65 48+6=8 90 14+7=2
6. g-6=1 4. 7 27 = ]_—66- 6=-6= 1—91- 28+7=4
7. 63+7=9 2. 42 +6=7 67 49 +7=7 92. 21 +7=3
18. 36+6=06 3. 7-7=1 68. 18 + 6 = 3 3. 35:7=5
¥ 72+6=12 4 21:7=3 9. 70+7=10 % 24+6=4
0 6+6=1 5. 30+6=5 0 66+6=11 % 36+6=56
2 56+7=8 4 6:6=1 n14+7=2 % 63:7=9
2 6+6=1 a7 42+6=17 2 60+6=10 9 7+7=1
8. 6+6=1 8 6+6=1 B42+7=6 8. 28+7=4
4. 14+7=2 9. 48 +6= 8 4. 70+7=10 %9 77+7=11
* 6+6=1 0. 18+6=3 7 30+6=5 10 84+7=12
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